Solution to Harvard Puzzle "*Who's in Charge?"'
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The omitted letters (in parentheses in the list below) spell
PRESIDENT AND FELLOWS

ACross

CoNoO~WNE

DAM(P)ER
ARMO(R)
PERMIT
PLUS
BURSA
(E)CLAIR
BRAY
TRAIT
(S)TOLE

. CRIME

. STEM

. ACRE

. CORPORATION
. STALL(I)ON
. ANNOTATED
. DONEE

. PACE

. A(D)VERT

. DRAMA

. ADIPOS(E)

. PATIE(N)CE

. DE(T)ONATE

Down

DR(A)STIC
STAMI(N)A
MARMOT
ACA(D)EMIC
AERATE
(F)ACET
LISP
LEADER
P(E)AT

. TOLD

. VIDA
CLIL)T

. ERODE

. PERU

. ROMANO

. ROOMS

. BLATANT

. SNOB

. REC(L)INED
. PAPUA

. C(O)RONER
. (W)ATERY
. RENO

. PA(S)TE

Kevin Wald solved the puzzle in 45 minutes.



